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Law of Industrial and Intellectual Property
(vkS|ksfxd vkSj ckSf¼d lEink fof/)

Time : 3 Hours Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into three (03)
sections A, B, and C. Attempt the questions contained in
these sections according to the detailed instructions given
therein.

uksV % ;g iz'u&i=k lkB (60) vadksa dk gS tks rhu (03) [kaMksa d] [k
rFkk x esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r funsZ'kksa
ds vuqlkj gh iz'uksa dks gy djuk gSA

Section - A @ [k.M&d

(Long Answer Type Questions)@(nh?kZ mÙkjksa okys iz'u)

Note : Section 'A' contains four (04) long-answer-type questions
of fifteen (15) marks each. Learners are required to
answer any two (02) questions only. (2×15=30)

uksV % [k.M ̂ d* esa pkj (04) nh?kZ mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, iUæg vad fu/kZfjr gSa A f'k{kkfFkZ;ksa dks buesa ls
dsoy nks iz'uksa ds mÙkj nsus gSa A
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1. Define Trademark. Discuss the procedure for the registration of
trademarks.

VªsMekdZ (O;kikj fpUg) dks ifjHkkf"kr dhft;sA O;kikj fpUg ds jftLVªhdj.k
dh izfØ;k dh foospuk dhft;sA

2. What do you mean by intellectual property? Discuss the nature
and importance of intellectual property.

ckSf¼d lEink ls vki D;k le>rs gSa\ ckSf¼d lEink dh izÑfr ,oa
egRo dh foospuk dhft;sA

3. What are the rights of patentees?

isVsUVh ds D;k vf/dkj gSa\
4. Explain main characteristics of industrial policy 1991?

vkS|ksfxd uhfr 1991 dh fo'ks"krkvksa dh O;k[;k dhft;s\

Section - B @ [k.M&[k

(Short Answer Type Questions) (y?kq mÙkjksa okys iz'u)

Note : Section 'B' contains eight (08) short-answer-type
questions of five (05) marks each. Learners are required
to answer any four (04) questions only. (4×5=20)

uksV % [k.M ̂ [k* esa vkB (08) y?kq mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, ik¡p (05) vad fu/kZfjr gaS A f'k{kkfFkZ;ksa dks buesa
ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSa A

1. What is Trips?

fVªIl D;k gS\

2. Discuss the ownership of copyright.

izfrfyI;f/dkj ds LokfeRo dh foospuk dhft;s\
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3. Distinguish between property mark and trademark.

lEifÙk fpUg vkSj O;kikj fpUg esa vUrj dhft;sA

4. Explain registration of trademark.

O;kikj fpUg ds iathdj.k dh O;k[;k dhft,A

5. Why should copyright be protected?

dkWihjkbV D;ksa lajf{kr fd;k tkuk pkfg;s \

6. Write short note on intellectual property right.

ckSf¼d lEink vf/dkj ij ,d laf{kIr uksV fyf[k;sA

7. Define design. Explain its essential elements.

fMtkbu dks ifjHkkf"kr dhft;sA rFkk mlds vko';d rRoksa dh O;k[;k
dhft;sA

8. What are the various modes of copyright?

dkihjkbV ds dkSu&dkSu ls fofHkUu izdkj gSa\

Section - C @ [k.M&x

(Objective Type Questions) @ (oLrqfu"B iz'u)

Note : Section 'C' contains ten (10) objective-type questions of
one (01) mark each. All the questions of this section are
compulsory. (10×1=10)

uksV % [k.M ^x* esa nl (10) oLrqfu"B iz'u fn;s x, gSa] izR;sd iz'u
ds fy, ,d (01) vad fu/kZfjr gSA bl [k.M ds lHkh iz'u
vfuok;Z gSaA

1. Which article has prohibited begging, forced labour and sale and
purchase of person in our constitution?

(a) Article 22 (b) Article 23

(c) Article 24 (d) Article25



4234/329/60

gekjs lafo/ku ds dkSu&ls vuqPNsn }kjk fHk{kko`fÙk] csxkj ,oa O;fDr;ksa dk
[kjhnuk&cspuk fuf"k¼ fd;k x;k gS\

(v) vuqPNsn 22 (c) vuqPNsn 23

(l) vuqPNsn 24 (n) vuqPNsn 25

2. The capital with which a company is registered is called :

(a) Working capital

(b) Subscribed capital

(c) Authorised capital

(d) None of the above

ftl iw¡th ls dEiuh dk iathdj.k fd;k tkrk gS] og dgykrh gS %

(v) dk;Z pykus okyh iw¡th

(c) vfHknk; iw¡th

(l) izkf/Ñr iw¡th

(n) mi;qZDr esa ls dksbZ ugha

3. First five year plan was started in-

(a) 1951-52 (b) 1956-57

(c) 1961-62 (d) 1966-67

izFke iapo"khZ; ;kstuk izkjEHk gqbZ &

(v) 1951&52 (c) 1956&57

(l) 1961&62 (n) 1966&67
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4. Who amongst the following drafted the 'Sarvodaya plan'?

(a) M.N . Roy

(b) Jai Prakash Narain

(c) Morarji Desai

(d) Shriman Narayan Agarwal

fuEufyf[kr esa ls dkSu loksZn; ;kstuk dh :ijs[kk rS;kj djus esa lfEefyr
Fkk \

(v) ,e- ,u- jk;

(c) t; izdk'k ukjk;.k

(l) eksjkjth nslkbZ

(n) Jheu ukjk;.k vxzoky

5. Which of the following country is the largest source in India's
total import?

(a) U.A. E.

(b) Switzerland

(c) Hong Kong

(d) China

fuEufyf[kr esa ls dkSu&lk ns'k Hkkjr ds lEiw.kZ vk;kr dk lcls cM+k
Ïksr gS\

(v) ;w- ,- bZ-

(c) fLoVtjyS.M

(l) gkaxdkax

(n) phu
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6. Which of the following is included in 'Navratna'?

(a) Coal India

(b) BHEL

(c) BEL

(d) Gas Authority of India Ltd

fuEu esa ls dkSu&lk ̂ uojRu* esa 'kkfey gS\

(v) dksy bf.M;k

(c) Hkkjr gSoh bysfDVªdYl fy-

(l) Hkkjr bysDVªkfuDl fy-

(n) xSl vFkkfjVh vkWiQ bf.M;k fy-
7. PIL is -

(a) Public interest litigation

(b) Public inquiry litigation

(c) Public investment litigation

(d) Private investment litigation

ih- vkbZ- ,y- gS &

(v) ifCyd bUVjsLV fyfVxs'ku

(c) ifCyd bUDok;jh fyfVxs'ku

(l) ifCyd bUosLVesaV fyfVxs'ku

(n) izkbosV bUosLVesaV fyfVxs'ku
8. What is the enactment year of Indian trade mark Act?

(a) 1999

(b) 1979

(c) 1989

(d) 1969



7 PTO234/329/60

Hkkjrh; VªsMekdZ vf/fu;e fdl o"kZ ikfjr gqvk\

(v) 1999

(c) 1979

(l) 1989

(n) 1969

9. Main purpose of economic legislation is -

(a) To support the economic policies of government

(b) To exercise control over economic activities

(c) To protect consumers

(d) All the above

vkfFkZd vf/fu;eksa dk eq[; mn~ns'; gS &

(v) ljdkj dh vkfFkZd uhfr;ksa dk leFkZu djuk

(c) vkfFkZd xfrfof/;ksa dk fu;U=k.k djuk

(l) miHkksDrkvksa dks laj{k.k iznku djuk

(n) mijksDr lHkh

10. Raniganj is known for -

(a) Bauxite deposits

(b) Coal deposits

(c) Copper deposits

(d) Tine ore



8234/329/60

jkuhxat fdlds fy;s tkuk tkrk gS &

(v) ckDlkbV fu{ksi

(c) dks;yk fu{ksi

(l) rkack fu{ksi

(n) fVu v;Ld


